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2 028 =R X EmH 100 10km 1 100
3 512 [FE && - 2:: 7] 99 IN—T 2 99
4 508 =2 WE RN 95 5km 1 95
5 006 SO NI IER 2 90 10km 2 90
5 035 =& & 28T 90 IN—T 3 90
7 030 HAX B - 2::h7] 86 5km 2 86
8 007 T EtE 28T 83 IN—T 4 83
9 067 B &8 mEM 82 10km 3 82
10 517 mlil Ea3 g 78 5km 3 78
11 036 NFH RX EHH 76 IN—T 5 76
12 002 g —#& 2l 75 10km 4 75
13 046 Al 51T HET A 5km 4 71
14 045 JE M T ZHEM 70 IN—T 6 70
15 060 FH OEE fit] I 69 10km 5 69
16 003 M EE EH™™H 66 IN—TT 7 66
16 059 EA ER T 66 5km 5 66
18 069 i BE 2 64 10km 6 64
19 011 T EA 2 -l 62 IN—T 8 62
20 530 T & HBHM 61 5km 6 61
21 526 izl N 2 60 10km 7 60
22 023 miE BmA 2t 57 IN—T 9 57
22 525 AK B X -t 57 5km 7 57
24 515 = g= AT 56 10km 8 56
25 054 =L B 2B 53 5km 8 53
25 511 A 235k E@H 53 IN—T 10 53
21 513 ERB BEE 2 92 10km 9 52
28 050 ¥E Z5h - 2::h7) 50 IN—T 11 50
29 510 #wR ER EHH 49 5km 9 49
30 027 | i@k f2—ER fif] i 48 10km 10 48
31 022 Ee BE B HET 46 IN—T 12 46
31 522 [{E&K FR BE ) 46 5km 10 46
33 043 RZE K ETH 45 10km 11 45
34 017 HE EE g 43 IN—T 13 43
34 061 AT BN i 43 5km 11 43
36 528 hE EE g 42 10km 12 42
37 068 AL FEE HEEM 40 IN—T 14 40
37 538 ZH HX SR EEET 40 5km 12 40
39 518 AH &k mEM 39 10km 13 39
40 047 AYE 1EHA =il 37 IN—TT 15 37
41 062 [RHE &£ R SRHT 36 10km 14 36
42 066 E+ & ZHEM 35 IN—T 16 35
43 032 SR 28 Py 34 10km 15 34
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47 005 Rk @ SEET 30 10km 17 30
48 055 FHR BRIK 2B 29 IN—T 19 29
49 025 2H %E 28T 28 10km 18 28
50 001 S AN HEET 26 IN—T 20 26
50 532 EE B— 28T 26 10km 19 26
52 015 EER A 2 24 IN—T 21 24
52 527 BEix &— 28T 24 10km 20 24
54 057 FM BRZ 2 22 IN—T 22 22
54 520 Nk 2 g 22 10km 21 22
56 019 [RE B— HEET 20 IN—T 23 20
56 042 INE =F ENTH 20 10km 22 20
58 063 #]AR &L i 19 IN—T 24 19
59 506 all R PUEN ] 18 IN—T 25 18
59 529 AK 2B 18 10km 23 18
61 013 IRE EE ZHEM 17 10km 24 17
61 033 #H B4 g 17 IN—T 26 17
63 040 HA &5 e /g ET 16 10km 25 16
64 049 &= iER 2 15 IN—T 27 15
64 531 AK flik EmH 15 10km 26 15
66 052 iR &7 2h 14 10km 27 14
66 514 AK —& e ] 14 IN—T 28 14
68 020 | KZEF HE 2B 13 IN—T 29 13
68 504 kHB Eif SEHET 13 10km 28 13
10 039 ML B g 12 IN—T 30 12
71 535 WA 258 R HET 11 IN—T 31 11
72 041 NF s R E T 10 IN—T 32 10
73 521 EE B2 28T 9 IN—T 33 9
14 044 =H XE N3 Th 8 IN—TT 34 8
75 064 IREB FEE g 7 IN—T 35 7
76 018 ZH E— 2EH 6 IN—T 36 6
77 008 %k BEA 28T 4 IN—T 37 4
78 534 REER B2 BiE5Hh 3 IN—T 38 3
79 509 SH EK fRET™H 2 IN—T 39 2
80 024 ¥EH S|IE 2 1 IN—T 42 1
80 034 X B 2l 1 IN—T 43 1
80 053 XHF BFX BiEH 1 IN—T 46 1
80 065 B E Z2HH 1 IN—T 40 1
80 501 R —&F EART 1 IN—T 45 1
80 502 Fik =1 SEHHET 1 IN—T 44 1
80 537 RBH B Fik 1 IN—T 41 1
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